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fR K Bl0) HorkokBz rAedse, Hotoa—t—0kRL, B0-0ALEINE
T fLEiconT,
1@ -11+6-2=-5-2=-7 90x +140(30 - x) = 3300

@ 1-(-27)+(=3)*=1-(-27)+9=1-(-3)=1+3=4 9x +14(30 - x) =330

® -Sxii3--2.3- 8,101 9x +420 — 14x =330

@ 4a-5-Ta-2=4a-7a-5-2=-3a -7 —5x=-90

B 6x+3-(9-8x) =6x+3-9+8x =14x -6 x=18 (HEIZHF->TwET,)

® 2(-3a+12)-+(2a-4)=-2a+8-a+2=~3a+10 (2) xAEHIC, (92 SAONER  (ROFR) =3 TERBETHL,

(2) xy—y'=4x(-2)-(-2)*=-8-4=-12 (13+x) : 41+x)=3:7
(3) xy>07275, @x>0, y>008a, ®x<0, y<ODBHEVBEZONT T, 7(13+ x) =3(41+ x)

Dx >0, y>00%H 91+7x =123+3x
x2z<0&D, z<0705, y-2z2>0 4x =32
ZhE, y-z<0%izLERA x=8 (MEIZE-TWVET,)

Bx<0, y<ODHH 3) FLOOABE X ANETHE, v F—OHBIERD 2589 I2EE T T,
x2<0XY, 2>0885, y-2<0%iLET. 1 N3OS L2908 45, 3x +29(K) D
BOBEEHDD, x<0, y<0, z>0X0, x &y HHROKTT (I). 1 A5 MR ITE25BUE ) 7S, Bx —25(B0) @

2lom -%£=2 mge @ 2x-7=-23 ® 12+3r=33-4x DE@RHELVAS
x= —124——’ 2x=—-23+7 3x +4x =33-12 3x +29=5x —25
2x=-16 Tx =21 —-2x=-54
x=-8 x=3 x=27 (MHEIZ&->TVET,)
@ 38-20=2(x-4) © BIT 22221 — e o % —OMEE, DX, 3x27+29=81+29=110(K)
24—6x =2x -8 3<3x+7>—5<x~2>=15]151% (4] () Ry ichdozB L, F75 X0 BI55B0RE, (r+15)5
-8x=-32 9x +21-5x +10=15 (2) BEDV) =X XBEFHE 2T 3,
x=4 4x = -16 ATEDHEDY) =Y DEDO Y ) DR H 55 5
x=—4 210x =60(x +15)
(2) 2x—-6=Tx+4 6(1 - ar) =5x— (2a+1)izx= —2&fRALT, 72 =2(x +15)
~5x =10 6(%”0):_10_(2%1) 7x =2x +30
x=-2 3+12a=-10-2a -1 5x =30
4a = —14 x=6 (FEICE>TVET.)
=1 FTE Do 2B 6 50T, IRV IS o 22 BRI, 6+15=21 (%)

Lo T, BB - MM, 6+21=27(4))
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4X6+1=25(K)
an+1=153, 4n =152, n=38 (HEIZG->TVET.)
y=Liix=-2 y=-8&MALT, -8=-; a=16—y=15
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(1) SHEEHTE, ST 5 M ! m
SRR E T oIS L < A _~7em-.G,5em | Sem, py
] o)
GK = KD =5cm 7575 J =
B H E
JK = JG + GK
=7+5
=12(cm)
(2) A]=DJ=7+5+5=17(cm) 75 - tle
AD = AJ +DJ
=17+17
=34(cm)

(377 A]J+]G=17+7=24(cm)
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